

Level 61 Governor Phillip Tower 1 Farrer Place Sydney NSW 2000 Australia

T +61 2 9296 2000 F +61 2 9296 3999

www.kwm.com



Announcements Platform
Australian Securities Exchange
20 Bridge Street
SYDNEY NSW 2000
Fax 1300 135 638

YTC Resources Limited PO Box 7077 ORANGE NSW AUSTRALIA, 2800 Fax + 61 (2) 6361 4711

Dear Sir/Madam

YTC Resources Limited (ACN 108 476 384) ("YTC")

We act for Singpac Investment Holding Pte Limited ("Singpac").

In accordance with the Corporations Act 2001 (Cwlth), we attach an ASIC Form 603 (Notice of initial substantial holder) issued by Singpac in relation to the shares in YTC.

Yours faithfully

Tim Laforest Solicitor

Direct line +61 2 9296 3476

Email tim.laforest@au.kwm.com

Nicholas Pappas Partner Direct line +61 2 9296 2275 Direct fax +61 2 9296 3883

Email nicholas.pappas@au.kwm.com

King & Wood Mallesons in Australia is a member firm of the King & Wood Mallesons network. See kwm.com for more information I ABN 22 041 424 954 北京 | 布里斯班 | 组培拉 | 成都 | 東庆 | 广州 | 杭州 | 香港 | 济南 | 伦敦 | 墨尔本 | 纽约 | 佩斯 | 青岛 | 上海 | 深圳 | 硅谷 | 苏州 | 悉尼 | 天津 | 东京
Beijing | Brisbane I Canberra | Chengdu | Chongqing | Guangzhou | Hangzhou | Hong Kong | Jinan | London | Melbourne | New York | Perth | Qingdao | Shanghai | Shenzhen Silicon Valley | Suzhou | Sydney | Tianjin | Tokyo

11020456\_1.DOC / TILAFORES Page 1 of

# Form 603

### Corporations Act 2001 Section 671B

## Notice of initial substantial holder

To_Company Name/Scheme	YTC Resources Ltd
ACN/ARSN	108 476 384
1. Details of substantial holder (1)	
Name	Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Pic
ACN/ARSN (if applicable)	N/A
The holder became a substantial holder	ол <u>06/03/2012</u>

### 2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

Class of securities (4)	Number of securities	Person's votes (5)	Voting power (6)
Fully paid ordinary shares	16,172,864	16,172,864	6.49%
Í			

#### 3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Ptc	Beneficial owner of 16,172,864 fully paid ordinary shares	16,172,864 fully paid ordinary shares

### 4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Class and number of securities
Singpac investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Plc	Sing pac Investment Holding Pte Limited	Singpac Investment Holding Pte Limited	16,172,864 fully paid ordinary shares

#### 5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideration (9)		Class and number of securities
		Cash	Non-Cash	
See Annexure "A"				

603 page 2/2 15 July 2001

#### 6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Plc	Bodies corporate that control Singpac Investment Holding Pte Limited or are associates pursuant to the Corporations Act.

#### 7. Addresses

The addresses of persons named in this form are as follows:

Name	Address	
Singpac Investment Holding Pte Limited	1 Temasek Avenue, # 34-01 Millenia Tower, Singapore (039192)	
Glencore Finance (Bermuda) Ltd	Victoria Street 22, Hamilton, Bermuda	
Glencore International AG and Glencore International Plc	Bearemattstrasse 3, CH-6341 Baar, Switzerland	

Signature				
print name	Richard Marshall	<u> </u>	General Counsel	
sign here		78	date 07 03/2e (2	

#### **DIRECTIONS**

- (1) If there are a number of substantial holders with similar or related relevant interests (eg a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- (6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (7) Include details of:
  - (a) any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
  - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (8) If the substantial holder is unable to determine the identity of the person (eg if the relevant interest arises because of an option) write "unknown".
- (9) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

"A"

This is the Annexuse marked "A" of 3 pages referred to in Form 603 ("Notice of initial substantial holder").

Richard Marshall

General Counsel
Date: 97.03.2012

### Consideration

The consideration paid for each relevant interest referred to in paragraph 3 of the "Form 603: Notice of Initial Substantial Holder" above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideration (9)		Class and number of securities
		Cash	Non-Cash	
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Ptc	06/03/2012	\$1,570,264.42 at \$0.4187 per share		3,750,055 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Plc	09/01/2012	\$72,917.27 at \$0.41 per share		177,847 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Plc	09/01/2012	\$1,370,412.70 at \$0.41 per share		3,342,470 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Pic	05/12/2011	\$25,841 at \$0.50 per share		51,682 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Ptc	02/12/2011	\$46,438.50 at \$0.4994 per share		92,987 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Pic	01/12/2011	\$105,446.61 at \$0.4836 per share		218,063 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Pic	30/11/2011	\$53,702.98 at \$0.4586 per share		117,102 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Plc	25/11/2011	\$744,234.46 at \$0.46 per share		1,617,901 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Pic	23/11/2011	\$608,241.90 at \$0.46 per share		-1,322,265 fully paid ordinary shares
Singpac Investment Holding Pte Limited, Glencore Finance	21/11/2011	\$361,731.47 at \$0.4972 per share		727,500 fully paid ordinary shares

Holder of relevant interest	Date of acquisition	Consideration (9)		Class and number of securities	
		Cash	Non-Cash		
(Bermuda) Ltd, Glencore international AG and Glencore International Plc					
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Ptc	18/11/2011	\$42,567.50 at \$0.50 per share		85,135 fully paid ordinary shares	
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Ptc	14/11/2011	\$52,230 at \$0.50 per share		104,460 fully paid ordinary shares	
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Ptc	11/11/2011	\$239,299.50 at \$0.50 per share		478,599 fully paid ordinary shares	
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Ptc	10/†1/2011	\$881,436.80 at \$0.4989 per share		1,766,915 fully paid ordinary shares	
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Plc	09/11/2011	\$92,667.76 at \$0.4977 per share		186,192 fully paid ordinary shares	
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Plc	08/11/2011	\$110,453.77 at \$0.4761 per share		231,997 fully paid ordinary shares	
Singpac Investment Holding Pte Limited, Glencore Finance (Bermuda) Ltd, Glencore International AG and Glencore International Ptc	07/11/2011	\$859,946.03 at \$0.4522 per share		1,901,694 fully paid ordinary shares	